

Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



COURSE NAME	COURSE CODE	SOFTWARE	COURSE FEES
ADSD	CSDC 214	MS-WORD, MS-EXCEL, MS-	REGISTRATION- 1200
ADVANCE DIPLOMA IN		POWERPOINT, MS-ACCESS,	MONTHLY-1000 X 17
SOFTWARE DEVELOPING		VISUAL BASIC 6.0, HTML, CSS,	TOTAL- 18200
(550 DAYS)		PHP, JAVA SCRIPT, DHTML,	
		PYTHON, BLUE JAVA, C, C++,	
ADIT	CSDC 03	FUNDAMENTAL, MS-WORD,	REGISTRATION- 600
ADVANCE DIPLOMA IN		MS-EXCEL, MS-POWERPOINT,	MONTHLY-500 X 17
INFORMATION		VISUAL FOXPRO 6.0	TOTAL- 9100
TECHNOLOGY		MS-ACCESS, VISUAL BASIC 6.0,	
(550 DAYS)		C, C++, HTML,	
,		INTERNET, SOFTWARE	
		INSTALL.	
ADDTP	CSDC 06	FUNDAMENTAL, PAINT, MS-	REGISTRATION- 700
(550 DAYS)		WORD, MS-EXCEL, MS-	MONTHLY-550 X 17
ADVANCE DIPLOMA IN		POWERPOINT, VISUAL	TOTAL- 10050
DESKTOP PUBLISHING		FOXPRO,	
		COREL DRAW, PHOTOSHOP,	
		PAGEMAKER, HTML,	
		ILLUSTRATOR, FLASH	
ADIM	CSDC 09	PAINT, WORD, EXCEL,	REGISTRATION -2000
(730 DAYS)		POWERPOINT,	MONTHLY-1000 X 23
ADVANCE DIPLOMA IN		COREL DRAW X6, ADOBE	
MULTIMEDIA		ILLUSTRATOR,ADOBE	
		PHOTOSHOP,ADOBE	TOTAL- 25000
		FLASH,SOUND FORGE,	
		BANGLA WORD,ADOBE	
		PREMIER PRO,ADOBE AFTER	
		EFFECT,FLASH PROJECT, 3DS	
		MAX , BLENDER	
ADFA (550 DAYS)	CSDC 12	FUNDAMENTAL, MS-WORD,	REGISTRATION- 700
ADVANCE DIPLOMA IN		MS EXCEL , TALLY ERP9, FOX	MONTHLY-550 X 17
FINANCIAL ACCOUNTING		PRO, PROJECT,E-COMMERCE,	TOTAL- 10050
		INCOME TAX, TURBO CASH,	
		GST , TAX COMPUTATION,	
		VAT, FILING UP RETURN,	
		SERVICE TAX, TDS	
DIGITAL MARKETING	CSDC 229	TEMPLETE DESIGN,LOGO,	REGISTRATION- 2000
(730 DAYS)		WEB DEVELOPING, YOUTUBE	MONTHLY-1000 X 23
		CHANEL, WHATSAPP & FACE	TOTAL- 25000
		BOOK MARKETING,GOOGLE	
ADWT	CSDC 18	FUNDAMENTAL,MS-WORD,	REGISTRATION- 1200
ADVANCE DIPLOMA IN WEB		PHOTOSHOP, WORD PRESS,	MONTHLY-1000 X 17
TECNOLOGY		DREAM WEAVER,	TOTAL- 18200
(550 DAYS)		POWERPOINT, CSS, JAVA,	
		SCRIPT, HTML, DHTML, PHP,	
		WORKSPACE	



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



COURSE NAME	COURSE CODE	SOFTWARE	COURSE FEES
DSD	CSDC 215	MS-WORD, MS-EXCEL, MS-	REGISTRATION- 1200
DIPLOMA IN SOFTWARE		POWERPOINT, MS-ACCESS,	MONTHLY-1000 X 11
DEVELOPING		VISUAL BASIC 6.0, HTML,CSS, PHP,	TOTAL- 12200
(365 DAYS)		JAVA SCRIPT, DHTML	
DIT	CSDC 02	FUNDAMENTALS OF COMPUTER	REGISTRATION- 600
Diploma In Information		M.S OFFICE 2019 (WORD, EXCEL,	MONTHLY-500 X 11
Technology		POWERPOINT, ACCESS) VISUAL FOXPRO	TOTAL- 6100
(365 DAYS)		6.0, VISUAL BASIC 6.0	
		INTERNET	
DDTP	CSDC 05	FUNDAMENTAL,MS-WORD MS-	REGISTRATION-700
DIPLOMA IN DESKTOP		EXCEL,POWER POINT, VISUAL	MONTHLY-550X 11
PUBLISHING		FOXPRO,ADOBE PAGE	TOTAL- 6750
(365 DAYS)		MAKER 7.0,COREL DRAW, ADOBE	
		PHOTOSHOP	
		DADE WORD EVEN	
DIM	CSDC 08	PAINT, WORD, EXCEL,	REGISTRATION- 2000
DIPLOMA IN		POWERPOINT,	MONTHLY-1000 X 17
MULTIMEDIA		COREL DRAW X6, ADOBE	
(550 DAYS)		ILLUSTRATOR,ADOBE	
		PHOTOSHOP, ADOBE FLASH, SOUND	
		FORGE, BANGLA WORD ,BANGLA	TOTAL- 19000
		WORD,ADOBE PREMIER PRO,ADOBE	
		AFTER EFFECT.	
DFA	CSDC 11	FUNDAMENTAL, MS-WORD, MS EXCEL,	REGISTRATION-700
DIPLOMA IN FINANCIAL		FOXPRO, TALLY, PROJECT, E-COMMERCE,	MONTHLY-550X 11
ACCOUNTING		TDS.	TOTAL- 6750
(365 DAYS)			
DWT	CSDC 17	FUNDAMENTAL, MS-WORD, PHOTO	REGISTRATION- 1200
DIPLOMA IN WEB	CSDC 17	SHOP, WORD PRESS, DREAM WEAVER,	MONTHLY-1000 X 11
TECNOLOGY		POWERPOINT, HTML, DHTML, CSS, JAVA	TOTAL- 12200
(365 DAYS)		SCRIPT.	101AL- 12200
(365 DA13)		SCRIPT.	
DTH	CSDC 23	LCD/TFT/MONITOR	REGISTRATION- 1500
DIPLOMA IN HARDWARE		PRINTER(DMP,LASER) ALL IN ONE	MONTHLY-1100X 11
TECHNOLOGY (365 DAYS)		PRINTER LAPTOP(COMPONENT)	TOTAL= 13600
, ,		SECURITY SURVEILLANCE SYSTEM	
ANINA	CCDC 101		DECICEDATION 4000
ANM ASSISTANT NURSING &	CSDC-101		REGISTRATION - 1000 MONTHLY - 500 X 10
MIDWIFERY			TOTAL = 6000
(336 DAYS)			
DIPLOMA IN ACCOUNTING	CSDC-116	TALLY,GST, PROJECT, E-COMMERCE,	REGISTRATION - 1000
(365 DAYS)		INCOME TAX, TURBO CASH, GST	MONTHLY - 1000 X 11
,		COMPUTATION TAX, VAT, FILEING UP	TOTAL = 12000
		RETURN, SERVICE TAX, TDS.	
DIGITAL RISE	CSDC 351	WEB HOSTING, YOUTUBE MASTER CLASS,	REGISTRATION- 1200
DIGITAL KISE		I WLD HUSIING, IUUIUDE WASIER CLASS,	VEGISTANTION- 1700
(EEO DAVE)	C3DC 331		MONTHLY 1000 V 17
(550 DAYS)	C3DC 331	WORD PRESS, CONTAINT MARKETING, E- COMMARCE , TALLY, GST, TAX etc.	MONTHLY-1000 X 17 TOTAL- 18200



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



COURSE NAME	COURSE CODE	SOFTWARE	COURSE FEES
CIT	CSDC 01	FUNDAMENTALS OF COMPUTER,	REGISTRATION- 600
(180 DAYS)		M.S OFFICE 2019 (WORD, EXCEL,	MONTHLY-500 X 5
Certificate In Information		POWERPOINT),	TOTAL- 3100
Technology	200.00	VISUAL FOXPRO 6.0	DEGISTRATION 4000
CERTIFICATE IN	CSDC 07	PAINT, WORD, EXCEL,	REGISTRATION- 1000
MULTIMEDIA		POWERPOINT,	MONTHLY-1000 X 11
(365 DAYS)		COREL DRAW X6, ADOBE	TOTAL- 12000
		ILLUSTRATOR,ADOBE	
		PHOTOSHOP.	
CERTIFICATE IN	CSDC 13	TALLY ERP 9 , PROJECT,E-	REGISTRATION- 1000
ACCOUNTING (180 DAYS)		COMMERCE, TDS.	MONTHLY-1000 X 5
			TOTAL-6000
CERTIFICATE COURCE IN	CSDC 21	LATEST JAVA TECHNOLOGY FROM	REGISTRATION- 1000
ADVANCE JAVA (180		ORACLE	MONTHLY-1000 X 5
DAYS)			TOTAL= 6000
CERTIFICATE COURSE IN	CSDC 22	FUNDAMENTALS OF COMPUTER,	REGISTRATION- 1500
COMPUTER AIDED		OPERATING SYSTEM (DOS, WIN	MONTHLY-1500 X 5
DESING (180 DAYS)		XP,7/8).AUTO CARD & 2D PROJECT	TOTAL= 9000
AUTO CAD		All properties of all by a 25 i hoseco	
ADVANCED	CSDC-32	ILLUSTRATOR & FLASH	1200 X 6 = 7200
	C3DC-32	ILLUSTRATOR & FLASH	1200 X 6 - 7200
2D-ANIMATION			
(180 DAYS)			
SPECIALIZATION IN	CSDC-99		1500 X 6 = 9000
BLUE JAVA (180 DAYS)			
SPECIALIZATION IN	CSDC - 100		2000 X 6 = 12000
AUDIO & VIDEO EDITING.			
(180 DAYS)		· · · · · · · · · · · · · · · · · · ·	
ACSE	CSDC 16	AUDIO VISUAL, ENGLISH	REGISTRATION- 700
ADVANCE CERTIFICATE IN	333 333	GRAMMAR & SPOKEN	MONTHLY-500 X 17
SPOKEN ENGLISH		ENGLISH	TOTAL- 9200
			101AL 3200
(550 DAYS)	CCDC 117	ENGLICH CRANAS & CROKES	DECICEDATION 700
DIPLOMA IN SPOKEN	CSDC-117	ENGLISH GRAMMAR & SPOKEN	REGISTRATION- 700
ENGLISH (365 DAYS)		ENGLISH , AUDIO VISUAL .	MONTHLY-500 X 11 MONTHLY-350 X 5
			TOTAL- 6200
CSE (180 DAYS)	CSDC 15	ENGLISH GRAMMAR & SPOKEN	REGISTRATION-700
CERTIFICATE IN SPOKEN	C35C 13	ENGLISH GRAMMAR & SPOREN	MONTHLY-500 X 5
		ENGLISH	TOTAL- 3200
ENGLISH			101111111111111111111111111111111111111



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



COURSE NAME	COURSE CODE	SOFTWARE	COURSE FEES
ISE - INTRODUCTION IN SPOKEN ENGLISH (90 DAYS)	CSDC 14	ENGLISH GRAMMAR & INTRODUCTION ENGLISH	MONTHLY-500 X 3 TOTAL-1500
PROGRAMING IN C (90 DAYS)	CSDC 95	BASICS, VARIABLE DECLARATION, DEFINITION AND SCOPE, DATA TYPES,INPUT/OUTPUT,OPERATORS, PREPROCESSOR, ARRAY & STRINGS, CONTROL STATEMENTS, FUNCTIONS, POINTERS.	REGISTRATION- 1200 MONTHLY-1200 X 2 TOTAL-3600
PROGRAMING IN C++ (90 DAYS)	CSDC 20	LEARN OOPS(OBJECT ORIENTED PROGRAMING) CONCEPTS UNDERSTAND CLASSES & OBJECTS	REGISTRATION- 1500 MONTHLY-1500 X 2 TOTAL-4500
COM (3 MONTH) CERTIFICATE IN OFFICE MANAGEMENT (90 DAYS)	CSDC 25	FUNDAMENTAL,MS-WORD , MS EXCEL , MS- POWERPOINT	REGISTRATION- 1400 (ONLY FOR MARCH- APRIL)
CAE(3 MONTHS) CERTIFICATE IN ADVANCE EXCEL (90 DAYS)	CSDC 28	ADVANCED FORMULAS, DATA POWER QUERY, TABLES AND FORMATING, ADVANCED CHARTING AND REPORTING, VBA.MACROS, USING EXCEL PRODUCTIVITY, DA SOLVER AND SIMULATION AND SOLVER, INTEGRATING EXCEL WITH AND OTHER TOOLS AND OPTIMIZATION.	REGISTRATION- 1500 MONTHLY-750 X 2 TOTAL-3000
ADVANCED PHOTOSHOP (90 DAYS)	CSDC-30	IMAGE EDITING , PHOTO REPLACING, BLACK & WHITE PHOTO TO COLOR , CORRECTION, ANNIMATION, LOGO MAKING .	1500 X 3 =4500
ADVANCED CORELDRAW (90 DAYS)	CSDC-31	LOGO MAKING , VISITING CARD , I-CARD , BANNER, POSTER, LEAFLET .	1200 X 3 = 3600
PYTHON (90 DAYS)	CSDC 96	Basics, Input/Output, Data Types, Variables, Operators, Control Flow, Functions, Object Oriented Concepts, Exception Handling, Python Collections, Django Framework, Data Analysis, Numpy,Pandas, Machine Learning with Python, Python GUI, Modules in Python, Working with Database, Misc, Applications and Project	1500 X 3 =4500
SPECIALIZATION IN TYPING (36 HOURS)	CSDC-33	TYPING	2500
HOME NURSHING ASSISTANT NURSING &	CSDC-97 CSDC-189	BASIC NURSING TRAINING ADVANCE NURSING TRAINING	500 X 3 =1500 Admission = 1000
MIDWIFERY(ANM) SPECIALIZATION IN JAVA SCRIPT (90 DAYS)	CSDC-98		Instalment=100 x 10 1500 X 3 =4500



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



	SCHOOL SYLLEBUS (ELIGABILITY UPTO CLASS X)			
COURSE NAME	COURSE	SOFTWARE	COURSE FEES	
	CODE			
JCCA (JUNIOR CERTIFICATE IN	CSDC 401	FUNDAMENTAL ,PAINT, NOTEPAD , WORD PAD + SCHOOL	MONTHLY- 300	
COMPUTER APPLICATION)		SYLLEBUS	X 12 = 3600	
CCA (CERTIFICATE IN	CSDC 402	FUNDAMENTAL , PAINT, NOTEPAD , WORD PAD, MS-	MONTHLY- 300	
COMPUTER APPLICATION)		POWER POINT, INTRODUCTION IN MS-WORD	X 12 = 3600	
		+ SCHOOL SYLLEBUS		
DCA (DIPLOMA IN CERTIFICATE	CSDC 403	FUNDAMENTAL ,PAINT, NOTEPAD , WORD PAD,	MONTHLY- 350	
IN COMPUTER APPLICATION)		INTRODUCTION IN MS-EXCEL , MS-WORD + SCHOOL	X 12 = 4200	
		SYLLEBUS, MS-POWER POINT, VISUAL BASIC		
ADCA (ADVANCE DIPLOMA IN	CSDC 404	FUNDAMENTAL , PAINT, NOTEPAD , WORD PAD,	MONTHLY- 350	
CERTIFICATE IN COMPUTER		INTRODUCTION IN MS-ACCESS , MS-WORD + SCHOOL X 12 = 4200		
APPLICATION)		SYLLEBUS, MS-POWER POINT, MS-EXCEL, VISUAL BASIC		
PGDCA (POST GRADUATE	CSDC 405	FUNDAMENTAL , PAINT, NOTEPAD , WORD PAD, MS-	MONTHLY- 400	
DIPLOMA IN CERTIFICATE IN		ACCESS, MS-WORD + SCHOOL SYLLEBUS, MS-POWER X 12 = 4800		
COMPUTER APPLICATION)		POINT, MS-EXCEL, VISUAL BASIC, INTRODUCTION IN C		
APGDCA (ADVANCE POST	CSDC 406	FUNDAMENTAL, PAINT, NOTEPAD, WORD PAD, MS-	MONTHLY- 400	
GRADUATE DIPLOMA IN		ACCESS , MS-WORD + SCHOOL SYLLEBUS , MS-POWER X 12 = 4800		
CERTIFICATE IN COMPUTER		POINT, MS-EXCEL, VISUAL BASIC , C , INTRODUCTION IN		
APPLICATION)		C++		

^{**} IF A STUDENT WANTS TO DO COMPUTER CLASS TWO DAYS A WEEK THEN HE HAS TO PAY RS . 200 /- MORE PER MONTH ALONG WITH THE MONTHLY FEES.



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



HEAD OFFICE HELPLINE: 7003440640

COURSE NAME: - ADVANCE OPERATING SYSTEMS & PROGRAMING.(AOPS)

DURATOIN: - 1 YEAR & 11 MONTHS, [23 MONTHS]

1.PAINT	7.MS.WORD	13.HTML	19.CSS
2.NOTE PAD	8.MS.EXCEL	14.DHTML	20.PYTHON
3.WORD PAD	9.MS.POWER POINT	15.C PROGRAMING	
4.FUNDAMENTALS	10.VISUAL FOX PRO	16.C++	
5.DOS	11. MS.ACCESS	17.JAVASCRIPT	
6.WINDOS	12.VISUAL BASIC	18.BLUE JAVA	

	TOTAL COURSE FEES = 44,000
ADMISSION 2 4,400/	
2000x12[MONTHS]=24,000(1ST SEMISTER)	
1455X11(MONTHS)=16,000(2 ND SEMISTER)	



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



HEAD OFFICE HELPLINE: 7003440640

COURSE NAME :- POST GRADUATE DIPLOMA IN MULTIMEDIA (PGDM)

COURSE DURATION:- 3 YEARS

1. MS-PAINT	2. MS-POWER POINT
3. MS WORD	4. MS-EXCEL
5. ADOBE PAGE MAKER	6. COREL DRAW
7. ADOBE PHOTOSHOP	8. ADOBE ILLUSTRATOR
9. ADOBE FLASH	10. ADOBE DREAMWEAVER
11. ADOBE PREMIER PRO	12. ADOBE AFTER EFFECT
13. 3Ds MAX	14. BLENDER
15. SOUND EDITING	

ADMISSION 2 (9989/-)	4495 X 12=53,940 (1 ST SEMESTER)	
	2298 X 12=27,576 (2 ND SEMESTER)	
	1248 X 11=13,728 (3 RD SEMESTER)	
Total course fess =105233		



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



HEAD OFFICE HELPLINE: 7003440640

COURSE NAME: - ADVANCED COMPUTERISED ACCOUNTING & GST & TAXATION (SAP B1)

COURSE DURATION:- 3 YEARS

1. FUNDAMENTALS OF ACCOUNTING	2. INTRODUCTION TO TALLY
3. COMPANY CREATION & OPENING ACCOUNTING IN TALLY	4. MODIFICATION OF COMPANY OR INDUSTRY DETAILS
5. COMPANY FEATURES	6. COMPANY CONFIGURATION
7. COST CENTER & COST CATEGORY	8. CREATION OF GODOWN & MAINTENANCE OF INVENTORY
9. PRODUCE PROFIT & LOSS	10. CREATING MASTERS & VOUCHERS
11.BILLS	12. BANKING & INTEREST CALCUTATION
13. REPORTS	14. ORDER PROCESSING
15. PRICE LEVELS & LIST	16. POINT OF SALE (POS)
17. ZERO VALUED ENTRIES	18. DIFFERENT ACTUAL & BILED QUANTITIES
19. BATCHWISE DETAILS	20. BILL OF MATERIAL & MANUFACTURING
21. ESSENTIALS OF TAXATION	22. TDS
23. GST	24. PAYROLL & ADVANCED FEATURES
25. TALLY OPERATORS	26. ENTRY & INVOICING
27. BALANCESHEET	

ADMISSION = 1500/-	Instalment= 1200 x 23
Total course fess =29100	



Computer & Skill Development Centre

UK Accredited An ISO 9001: 2015 Certified

Autonomous Body | A National Skill Development Programme of Information Technology

Education & Development.



HEAD OFFICE HELPLINE: 7003440640

COURSE NAME :- POST GARDUTAION DIPLOMA IN WEB

COURSE DURATION: 2 YEARS

1.NOTE PAD	2. WORD PAD	3. MS-WORD
4. MS-EXCEL	5. MS-POWERPOINT	6. HTML
7. DHTML	8. JAVA SCRIPT	9. CSS
10. BOOT-STRAP	11. WORD-PRESS	12. DREAM-WEAVER
13. PHP	14. ADOBE PHOTOSHOP	15. ADOBE FLASH
16. ADOBE ILLUSTRATOR		

ADMISSION 2 (9895/-)	4295 X 12=51,540 (1 ST SEMESTER)
	2250 X 12=27,000 (2 ND SEMESTER)
	1350 X 11=14,850 (3 RD SEMESTER)
Total course fess =103285	